/ 4

VERICOM

eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee

ASSEMBLY INSTRUCTIONS I

S o 4
Di

v

‘N

2

2

Dﬁ

-

7

DE

2

‘N

Ci

2

C

2

-5

oy 2

VERTICAL FINGER DUCT CABLE MANAGER

TO A 2-POST RACK



Power drill with Phillips bit

c
(®)
—
L
©
)
(7))
=
)
(o)
(=4
©
()
=
=)
o
Q
(14

(recommended)
or Phillips head screwdriver

£

10-32 x 18mm Screw

Supplied Hardware

L

M5 x 10mm Screw

STEP 1 -

Single Cable Manager

M5 x 10mm

Remove

“‘ S @ S Q Sy Q b [a) S [ w Q 5 S w
\v s@ @@\ V@Y

9 @ & /90 @ 9 % © @ O @ O

DR 1

%@m@% %@m@% %@@@%

2. To provide optimum support, use all three Z-brackets - one towards the top, one towards the

1. Remove both covers from the cable manager.

bottom, and one in the middle.
3. Insert the M5 screws from inside the cable manager through the holes indicated above and into

the Z-brackets.




STEP 2 - Single Cable Manager

10-32 x 18mm

-brackets align with full RU spaces on the rack.
2. Attach each bracket to the rack using (2) 10-32 screws.

3. Replace the front covers.

1. Move the cable manager into the desired position on the rack, making sure the holes in the
Z




STEP 1 - Double Cable Manager

M5 x 10mm

/ Z-bracket
)

\ C-bracket

1. Before attaching the C-bracket to the Z-bracket, place the Z-bracket on the back of the cable
manager, and then place the C-bracket on the Z-bracket, to assure proper alignment with the

holes on the cable manager.
2. Remove both brackets from the cable manager and attach the C-bracket to the Z-bracket as

shown using (2) M5 x 10mm screws.




STEP 2 - Double Cable Manager

[ Remove

° /

5 o 60 58 89 8 o s o

oooooooooooooooooooooooooooooooooooooooo

2. To provide optimum support, use all three bracket assemblies - one towards the top, one towards

1. Remove both covers from both cable managers.

the bottom, and one in the middle.
3. Insert the M5 screws from inside the first cable manager through the holes indicated above and

into the bracket assemblies.




STEP 3 - Double Cable Manager

Y%
¢

4

A AN

“\W ‘/rv
‘/f‘\\v\»

QS

M5 x 10mm

vt

/4

\»-\\ A
By

XK
—/f

e
N

ya
7

X/

7
P2 S P S S S S 8
(=N

=5 & > _ g

)

S 2 S

I e Vo e A e 0 e A e 5 g e e P e o e e A 2 e e A 2 P e o

Remove

1. Lay the first cable manager (with the bracket assemblies attached) on a flat surface with the

brackets facing up.
2. Place the second cable manager on top of the first, making sure the ends are aligned.

3. Insert the M5 screws from inside the second cable manager through the holes indicated above

and into the C-bracket.




1y
Q
()]
©
=
(T
=
=
Ko
©
&
=
Ko
=)
O
(a]
1
<
2
1]
-
n

=Y

cecccoccocs o oo oo Qoo 0 00

W

RS

//% A

TR aEHRpEt e HhaHadhdEia Sl a il adhia i a i i a i adhai a i s e i a i e Hif sl e Sl e iR eSSl e Hdp SRl e Slag T Ha

\II

SSYZ=SSe2: IS = s

\

G

G T

G

G O

P2 =

A S S SR e ST S TR S SR e TR e 2 SR e 2 e e 2

2=

U R R

==e

wwgl X ¢e-01

53

\
\

making sure the holes in the

1. Move the cable manager into the desired position on the rack

Z-brackets align with full RU spaces on the rack.
2. Attach each bracket to the rack using (2) 10-32 screws.

3. Replace the front covers.




Use these instructions for assembling the following items:
RAMVF426
RAMVF426D
RAMVF428
RAMVF428D
RAMVF456
RAMVF456D
RAMVF458
RAMVF458D
RAMVF486
RAMVF486D
RAMVF488
RAMVF488D

VERICOM

2511 Westcott Blvd. Knoxville, TN 37931 USA
vericomsolutions.com — +1 (865) 67 1-4455




	Front Cover.pdf
	Page 1.pdf
	Page 2.pdf
	Page 3.pdf
	Page 4.pdf
	Page 5.pdf
	Page 6.pdf
	Rear Cover.pdf

